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1 LB G B 380,000 520,000 A 140,000

HiE DOE R 5,490,000 5,760,000 A 270,000

ORI E 725,000 730,000 A 5,000

. T K - R 3,000,000 290,000 2,710,000

- BEGRENT S & o i 1,200,000 1,280,000 A 80,000

B MEIAMER 12,260,000 12,150,000 110,000

FOMFEIE 4,010,000 4,620,000 A 610,000

HEE  F 38,480,000 36,530,000 1,950,000

) fa B 7,150,000 6,915,000 235,000

it IRTEAS & 400,000 400,000 0
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# W {E E R 200,000 200,000 0

Fnl S A 2 330,000 330,000 0
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s BTHIER 125,000 123,000 2,000

HMARFE 3,915,000 3,915,000 0

B ema 300,000 300,000 0

PEARIR GE 5 53,000 53,000 0

TN L= 150,000 132,000 18,000

FABLARE 1,000,000 1,250,000 A 250,000

HE 400,000 200,000 200,000
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3 FENA 11,100,000 8,660,000 2,440,000
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L. A E AR 2,900,000 2,700,000 200,000

2. BEREHTHE S 4,200,000 3,800,000 400,000

3. HWERR A RABR - AR = 1,800,000 900,000 900,000

4. HFEHEEE 300,000 160,000 140,000

2. HHEMEL K - o g 1,900,000 1,100,000 800,000

5. HEFITRE (Biff~==27/1) 0 0 0

6. 31T E (MRFRA D FH) 700,000 800,000 A 100,000

7. WEFATRE(E D) 0 0 0

8. M FEAT X 1,200,000 300,000 900,000

4 &I A 2,810,000 2,610,000 200,000
BRI S 1,500,000 1,300,000 200,000
BPERK 510,000 510,000 0
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5 M I A 4,775,000 4,210,000 565,000
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HFFE R (U0 B8 RD) 150,000 70,000 80,000

Z D 780,000 300,000 480,000
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R B U HERR Y 170,000 170,000 0
EEOF 5,490,000 5,760,000 A 270,000
BB 2,000,000 2,400,000 A 400,000
BERE RS 1,500,000 1,500,000 0
MU AR A 3B - AR 120,000 100,000 20,000
¥EFHBHE 350,000 170,000 180,000
He it nAkGEE = 0 30,000 A 30,000
R URIE (B firam) 10,000 60,000 A 50,000
HAT7 +—F 2 (SHH) 200,000 200,000 0
B HSHINT7 4 —7 4 350,000 350,000 0
B ANIHE  (FifrZs B E 2 - &) 850,000 850,000 0
oMt GRES% WHES) 80,000 70,000 10,000
CPDBf% 30,000 30,000 0
IREISE) 725,000 730,000 A 5,000
PRi% &) 50,000 50,000 0
S FUERL O BLAT (HVE LA /M) 50,000 50,000 0
b i s (i == —2=) 600,000 600,000 0
ZEE) MR A 15,000 20,000 A 5,000
¥EBEN (HEh) 10,000 10,000 0
BEENELR 3,000,000 290,000 2,710,000
W FITRE (Biiir~=27/1) 500,000 0 500,000
W ERATRE (HETRA D FH) REUGTIES 1,500,000 100,000 1,400,000
AHERL T E (RRE R ) 850,000 120,000 730,000
EFER (e sy) 150,000 70,000 80,000
BREATS L 1,200,000 1,280,000 A 80,000
R 350,000 650,000 A 300,000
iRy 30,000 30,000 0
B3 5 W i 70,000 100,000 A 30,000
KEATEA 700,000 500,000 200,000
HBEYAZFREMRFIET ks (WG) 50,000 0 50,000
R0 A MER R 12,260,000 12,150,000 110,000
AR 12,200,000 12,090,000 110,000
i T 2as 60,000 60,000 0
DTS 4,010,000 4,620,000 A 610,000
Y R 270,000 300,000 A 30,000
ELRAS — e T TAT AR R 270,000 260,000 10,000
TPEk R 700,000 550,000 150,000
Kb €S 2,500,000 2,300,000 200,000
[P il o 3R R 5 70,000 60,000 10,000
2 BUINAEHME &k f5e in A OTE B 100,000 100,000 0
ZDfh, 0 950,000 A 950,000
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